

**Waller County** Attn: Danny Rothe

425 FM 1488

Hempstead, TX 77445

## Wald Relocation Services, LTD

7420 Security Way, Suite 100 Houston, TX 77040 713.512.4800

Invoice Date: 12/4/2023 Invoice #: 7527 Order #: WALD-5794-3 Customer #: 16483

PO #: Courthouse Moving

**Amount Due:** 

\$9,806.00

**Due Date:** 

1/3/2024

After 1/3/2024 pay:

\$9,953.09

Amount Paid: \$

Remit To:

Wald Relocation Services, LTD 7420 Security Way, Suite 100 Houston, TX 77040

Please detach and return this portion with your payment. Thank you.

Remit To:

Wald Relocation Services, LTD 7420 Security Way, Suite 100

Houston, TX 77040

Invoice #: 7527 Order #: WALD-5794-3

Invoice Date: 12/4/2023

Customer #: 16483

PO#: Courthouse Moving

Salesperson: Monfort, Duane

Hauled Wt:

Miles:

Shipper: Waller County Courthouse, Billing Origin:

Destination:

Wald Relocation Services, LTD

7420 Security Way, Suite 100

Houston, TX 77040

713.512.4800

Tariff: O&I

		··············					741111.00	-
Item#	Description		Quantity	Quantity	Rate	Gross	Discount	Amount
11/28/2	23			HEARTH A CHARLES		geren er en et der	The Arts and	\$2,479.50
Item#	Description	Quantity	Quantity	Rate	Gross	Discount	Amount	<b>4-,</b>
4003	O&I Supervisor	1.00 Crew	9.50 hrs	45,00	\$427.50		\$427.50	
4015	O&I Driver	1.00 Crew	5.50 hrs	39.00	\$214.50		\$214.50	
4006	O&I Mover	1.00 Crew	5.50 hrs	30.00	\$165.00	Mar di Carlo de Calabrigati, de destado en escargo en e apportar e e e e e e e e e e e e e e e e e e e	\$165.00	
4006	O&I Mover	1.00 Crew	5.50 hrs	30.00	\$165.00	Entertaine the Control of the Contro	\$165.00	
4006	O&I Mover	4.00 Crew	9.50 hrs	30.00	\$1,140.00		\$1,140.00	
4016	O&I Bobtail	1,00 Units	9.50 hrs	35.00	\$332.50	Control of the control of the control of the control of	\$332.50	
22951	Cont Shrink Wrap		1.00 Qty	35.00	\$35.00		\$35.00	
12/2/23	re recito com ilima de como de decembra de la como de	an in terminal and the second		Palam ta sari di Liman dinata di dia manta dan di Salam.		amen gamine di angan gama gama i	a recognition, some real title in a title of the formation	\$5,676.50
Item#	Description	Quantity	Quantity	Rate	Gross	Discount	Amount	Ψ5,070.50
4003	O&I Supervisor	1.00 Crew	7.50 hrs	45.00	\$337.50	CONTRACTOR AND ADDRESS.	\$337.50	
4015	O&I Driver	3.00 Crew	7.50 hrs	39.00	\$877.50	And the second s	\$877.50	
4026	O&I Installer	1.00 Crew	7.50 hrs	38.00	\$285.00	A gray management and straight Area	\$285.00	
4006	O&I Mover	11.00 Crew	7.50 hrs	30.00	\$2,475.00	EV > 30 William or account above and specification	\$2,475.00	
4016	O&I Bobtail	3.00 Units	7.50 hrs	35.00	\$787.50	PEPER DE PARE LE LA COLONIA DE	\$787.50	
22926	Cont Bins	P2	20.00 Qty	32.00	\$640.00		\$640.00	
22969	Cont Compu Wraps		60.00 Qty	2.00	\$120.00		\$120.00	
22951	Cont Shrink Wrap		4.00 Qty	35.00	\$140.00	elli tertitari. Peri e universari e resperi, è reservi.	\$140.00	
22910	Cont Tape		4.00 Qty	3.50	\$14.00	Partie blish dags and parties and the second	\$14.00	

604-604-581837

Item#	Description		Quantity	Quantity	Rate	Gross	Discount	Amount
Move C	Consultant	Maria e sy de gerzon	学 マー 草の はなる	anima e anima	TO STATE OF			\$1,650.00
Item#	Description	Quantity	Quantity	Rate	Gross	Discount	Amount	01,000.00
4058	Move Consultant	1.00 Crew	22.00 hrs	75.00	\$1,650.00		\$1,650.00	
					Amo	unt Due:		\$9,806.00
						1/3/2024		
					After 1/3/	2024 pay:		\$9,953.09
		Thank	you for promp	t payment. We	are looking for	ward to provi	ding you moving	g services again.

## Wald Relocation Services, LTD

10438

Tuesday, November 28, 2023

**Waller County Courthouse** 

Origin: 836 Austin St

POC: Danny Rothe 979-221-3922

Hempstead, TX 77445

Destination: 425 FM 1488

POC: Danny Rothe 979-221-3922

Hempstead, TX 77445

Home Phone: Work Phone:

Phone: Email: WALD@5794-3-H

Work Phone: Other Phone:

Home Phone:

Coordinator: Lucio, Regina

Natl Account:

Salesperson: Monfort, Duane

Natl Account #:

Customer: Waller County (16483)

PO #: COURTHOUSE MOVING

Valuation: Normal Rate .60/lb

 Service
 Start
 Pack
 Load
 Delivery

 O & I Move
 8:00 AM
 11/27/2023

Containers	Estimated	Actual	Containers	Estimated	Actual	Containers	Estimated	Actual
* Driver	1	1	E- Sliders	THE REAL PROPERTY AND ADDRESS OF THE PARTY AND		Pro- Cloth Pads		
* Packer	4	4	E- SpidC- Steel Dolly			Pro- Coreplast		
* Supervisor	1	1	E- SpidCrane			Pro- Corner Guard		
* V- BT	2	2	E- Walk Board			Pro- Masonite		2
Ctn- 1.5 Book			M- BubbleWrap			Pro- Matadoors		
Ctn- Inter-Lock			M- Cardboard Separator			Pro- Polynite		
DISPOSAL	=		M- Corrugated Roll			Pro- Rug Runner		
E- Bins	10		M- Corrugated Sheets		•	Pro- Security Seal		
E- Deck Bar			M- Flat Brackets (Box)			Tape- Blue		
E- Dolly- 4- Wheel			M- Furniture Screws (Box)			Tape- Double Sided		
E- Dolly- Extension E- Dolly-			M- Mounting Kit	- 4		Tape- Duct		
Kickback			M- Newsprint	1		Tape- Polynite		
E- E-Crate			M- Packing Peanuts			Tape- Tan		
E- E-Crate Dolly			M- StretchWrap AntiStat			Tape- Velcro	1	
E- Ladder			M- StretchWrap Green	2	1	Tool & Drill		
E- Pallet Jack E- Pallet Jack			M- Zip Ties			Tool- Door Stop		
Lifter			Move- Inv. Sticker			Tool- J-Bar		
E- Pallets	2 - 2		Move- Inventory	_		Tool- Markers		
E- Panel Cart	ĺ		Move- Label- 248			Tool- Pry Bar	1	
E- RBC	6		Move- Label- 500			Tool- Rubber Mallet		
E- RBC Covers		1	PC Bags			Tool- Utility Knife		
E- Roll-A-Lift			PC- Computer Wrap		-	A THICK		

Special Instructions( Origin ): START TIME: 8:00 A.M. Crew to load RBC's at old courthouse, deliver to new building and unpack as directed. Bring all empty RBC's and any other

equipment onsite back to WALD.

## IMPORTANT NOTICE- Read notice before signing below:

I acknowledge that the above requested work has been completed.

Shipments accepted at carriers liability hereby declared as not exceeding \$.60 per pound per article unless owner specifies herein in writing a valuation and pays the agreed premium. Storage shipments are subject to terms and conditions on the non-negotiable warehouse receipt.

The Company is not responsible for articles packed by owner, under no circumstances will the Company be responsible for articles of extraordinary value such as but not limited to currency, money, coin & stamp collections, documents, securities, jewelry, watches or precious stones. Any claims for shortage or damages must be reported within 48 hours after receipt of goods. I agree to the above.

Drayage

Valuation Charge

Travel Time

Transportation

Total:

HRS

Charges

Packing Charge

Signature of Customer, Owner or Agent

**Additional Notes:** 

## **Waller County Courthouse**

Origin: 836 Austin St

POC: Danny Rothe 979-221-3922

Hempstead, TX 77445

Destination: 425 FM 1488

POC: Danny Rothe 979-221-3922

Hempstead, TX 77445

**Home Phone:** Work Phone:

Email: WALD@5794-3-I

Home Phone: Work Phone: Other Phone:

Coordinator: Lucio, Regina

Valuation: Normal Rate .60/lb

**Natl Account:** Natl Account #: Salesperson: Monfort, Duane

Customer: Waller County (16483)

PO #: COURTHOUSE MOVING

Service	Start	Pack	Load	<u>Delivery</u>	
O & I Move	8:00 AM		12/02/2023		_

Containers	Estimated	Actual	Containers	Estimated	Actual	Containers	Estimated	Actual
* Driver	3	3	E- Roll-A-Lift			PC- Computer Wrap	60	60
* Installer	1	1	E- Sliders			Pro- Cloth Pads	100	100
* Mover	10	11	E- SpidC- Steel Dolly			Pro- Coreplast		
* Supervisor	1	1	E- SpidCrane			Pro- Corner Guard		
* V- BT	3	3	E- Walk Board			Pro- Masonite		
Ctn- 1.5 Book			M- BubbleWrap			Pro- Matadoors		
Ctn- Inter-Lock			M- Cardboard Separator			Pro- Polynite		
DISPOSAL		•	M- Corrugated Roll			Pro- Rug Runner		
E- Bins	20	20	M- Corrugated Sheets	The same of the sa		Pro- Security Seal		
E- Deck Bar			M- Flat Brackets (Box)			Tape- Blue		
E- Dolly- 4-	80	80	M- Furniture			Tape- Double		
Wheel E- Dolly-		000	Screws (Box)			Sided		
Extension			M- Mounting Kit			Tape- Duct		
E- Dolly- Kickback			M- Newsprint			Tape- Polynite		
E- E-Crate			M- Packing Peanuts			Tape- Tan	4	4
E- E-Crate Dolly	and the second s		M- StretchWrap AntiStat	in east-		Tape- Velcro		
E- Ladder			M-StretchWrap Green	4	4	Tool & Drill		
E- Pallet Jack			M- Zip Ties			Tool- Door Stop		
E- Pallet Jack			Move- Inv.			Tool- J-Bar		
Lifter			Sticker		l			
E- Pallets			Move- Inventory Move- Label-			Tool- Markers		
E- Panel Cart	5	5	248			Tool- Pry Bar		
E- RBC			Move- Label- 500			Tool- Rubber Mallet		
E- RBC Covers			PC Bags			Tool- Utility Knife		